A M N B
AN = 0OAB
> [t 3
2
ek 2
> d 3
ANLS ABE 322 U 4 5 27|t}




A M N B

A M N B

E:Dcm,mzmcm, mzmcm

_Aldem
(3) oy H—e—t
A M N B

Jabi

W:Dcm,ﬁzmcm, W:Dcm,ﬁzmcm

= (1)7, 14, 14

0x
n

=H o (2) 24, 16, 16

v v v vy vy
0x
0

o
n

=l (3)7, 7,14, 21

(Dm:%ﬁ:%xﬂ:?(cm)

. 2 2

AN = -AB = - x21 = 14(cm)
3 3

N NI

(2) AB = 3AM = 3 x 8 = 24(cm)
AN = 2AM = 2 x 8 = 16(cm)
MB = 2AM = 2 x 8 = 16( cm)

(3) AN = ;AN =  x 14 = 7(cm)
NB = AM = 7(cm)

MB = AN = 14(cm)
AB =3AM =3 x7 = 21(cm)




nd I
lfeS
I
o
=
X
4

)
=
z
o
>
Bl
>
us]
lo
ala
ol
Eh
Jabi
ne
=
rO
2

A M N B

A M N B

E:Dcm,mzmcm, mzmcm

_A0em.
(B3) oy H—e—t
A M N B

W:Dcm,ﬁzmcm, W:Dcm,ﬁzmcm

= (1)5,10, 10

0x
n

=H(2)12, 8, 8

v v v vy vy
0x
0

o
n

= (3)5,5,10, 15

<1>m:§ﬁ:§x15:5<cm>

. 2 9

AN = -AB = - x 15 = 10(cm)
3 3

. A ®

(2) AB = 3AM = 3 x 4 = 12(cm)
AN = 2AM = 2 x4 = 8(cm)
MB = 2AM = 2 x 4 = 8(cm)

(3)m:%ﬁ:%x10:5(cm)

NB = AM = 5(cm)
MB = AN = 10(cm)
AB =3AM =3 x5 = 15(cm)




x+90°+2x-30°=180°
3x+60° =180°
L Lx=40°




5. o 2" x 8 2715 F6HH?

®w00e @100 @2 @130 © 140°

/x = 180° — (40° + 20°) = 120°




6. che 1w 2ol 1749 DA $16] A A A.B.C 7F Ak, Zol7
Mg e ARe) A4t BE @ Fjel7})

——f—eo—j—o—
A B C l

@ 174 @2711 ® 37 @ 470 ® 57

A | Qo] AES B= AB,BC,AC o|1, AB = BC ¢|E&2

FLES

Zol7} M= ThE HEE 2 Aelct.




7. O IYUAMAP=PQ=QB € W, ¢}

o
HL
N
of
8o
A,
52
rlo
poty

A

P Q B
H7
& AB = 3AD © PB=3Q
© DB = 2AD @mzéﬁ
@ngﬁ @E:%E

pe.0 20e BGovoe ®ee 6o

®AQ= 4B

® AB = 3AP




o] 2o v

O
1

ot

8.

-l- ~ I~ ~
e ~ e ~

~

~ =~

p 0

o<t

— <t

|

— ™

— |

g







CERERD

-

ul

A




2442 742

o, A2 o

Sk

13747 Mz 3

Al X
L I

& 2% 2ol

11. ot

stofzt.

=3

o g B

I B S
= =R
o=} <t 0
momowmom @@ @ m
RO RO RO

U
© r~
i
KO RO
JANRRVAN




12, ohg =9& W3l wo] A= whpn ich 3HT B 2tz
TR171?

O ™17 241 @ oM, A1 7H
® wA@: 27, A 174 @ w17, Ao

@ﬂ@: 07l, @A 2 7

WL

A5 DAL AT gor] BHLS A ofho] &

I B = 27 o|d.




13. o5 I1™olA /DOB & F-sheizt.

2x + 30° = 4x — 50°
ox = 40°
/DOB = 180° — ZAOD = 180° — (2 x 40° + 30°) = 70°




14.

che TR A7 R71E AAAEL 4 0] HAo] thAdoR
e moFolet,
ta, 2b ©) A7 Fo}e] BA,

(1) za (2) ¢b

> E.

> HE . 26.5° ,: 63.5°

(1) za = 90° - 63.5° = 26.5°
(2) zb = 90° — 26.5° = 63.5°




15. o= 2™l 19 2715 F-5hefzh

S +10°
50

iy
o

SEmA|7te] 37)E A2 gone
50° = x + 10°
coZx = 40°




